Algebra I1b
Solutions

9-1 Day 4

61) 63) vertex: ((,— J\)

vertex: ( |/ ZB

axis of symmetry: X =\ axis of symmetry: < = |
y-intercept: (O,'SB y-intercept: (O /-Sj
[+ E . 2+0)3
x-intercepts: None o g til2 x-intercepts: Z—_"Z— or Nore

Graph width (circleone):  Wide Narrow Graph width circleone):  Wide CNarrow> Normal
Function opens (ircle one): Down Left Right Function opens (circleone): ~ Up Left Right
Function has a (ircle oney: - Max @ Neither Function has a (circle ono): Min  Neither

Value of min or max: Z Value of min or max: — |

65) vertex: é\,—Z) 67) vertex: C l, -3>

axis of symmetry: K —-| axis of symmetry: X = |
y-intercept: (¢ c’),O\ y-intercept: <O - §>
x-intercepts: j o, 2 x-intercepts:igi'ggz oR gg%iz i OR  Nene
Graph width (circle one): ' Wide Normal Graph width (circle onc): Wifie Normal
Function opens (circle one): ( Up Down Left Right Function opens (circleone): ~ Up Left Right

Function has a (circle one):  Max @ Neither Function has a (circle one): Min Neither

Value of min or max: —2 Value of min or max: —3

75)

axis of symmetry:

S
vertex: éz/ —l_'? )
-_ S
o i
y-intercept: (O, 2)

x-intercepts: g- I, - g—}
Graph width (circleone): ~ Wide arrow™ Normal

Function opens (circle one):  (Up Down Left Right

Function has a (circle one):  Max Min Neither

Value of min or max: — 7 >



